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1. (A) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û …é¤øÅÛé ÉÛä× ? ÍÛ×̃ ÛÛÅÛïõàýÛ ¶ÛÛ¨ÛÛïõÛýÛÛë ÍÛ¾Û›ÛÈÛÛé. 7  

     …¬ÛÈÛÛ 

   ¶ÛÛ¨ÛÛ× ¾Ûé¶Ûé›÷Áõ¶Ûà ½ÛæÜ¾ÛïõÛ ÍÛ¾Û›ÛÈÛÛé. 

 (B) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

   (1) ÍÛ×̧ ÛÜ«Û¶ÛÛ ¾ÛÐü«Û¾ÛàïõÁõ¨Û¶ÛÛé Ðéü©Ûä ÍÛ¾Û›ÛÈÛÛé. 

   (2) ¶ÛÛ¨ÛÛïõÛýÛÙ¶ÛÛé …ÛµÛäÜ¶Ûïõ …Ü½Û•Û¾Û ÍÛ¾Û›ÛÈÛÛé. 

   (3) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û¶ÛÛ× ŠþÕù½ÛÈÛ¶ÛÛ× ©Û¼Û‘õÛ…Ûé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

 (C) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

   (1) ÁõÛéïõÛ¨Û ¸ÛÁõ ÈÛÇ©ÛÁõ¶ÛÛ× þùÁõ¶Ûà •Û¨Û©ÛÁõà ïéõÈÛà Áõà©Ûé ¬ÛÛýÛ ? 

   (2) ÈÛÐüàÈÛ¤øà ¶ÛÛ¨ÛÛïõÛýÛÙ …é¤øÅÛé ÉÛä× ? 

   (3) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û¶ÛÛ× ÄõÜ§ø•Û©Û …Ü½Û•Û¾Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé¶Ûà ýÛÛþùà ÅÛ”ÛÛé. 

 

2. (A) ¶ÛÛ¨ÛÛïõàýÛ ›Ûé”Û¾Û …¶Ûé µÛ×µÛÛïõàýÛ ›Ûé”Û¾Û¶ÛÛ× ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 7 
      …¬ÛÈÛÛ 

  Y ÜÅÛÜ¾Û¤éø¦ø¶ÛÛ× ˆÜîÈÛ¤øà ÉÛéÁõ ÐüÛÅÛ¾ÛÛ× ÉÛéÁõþùà¥ø ` 25 ÅÛé”Ûé ÈÛé̃ ÛÛýÛ ™öé. ¶ÛÛ¨ÛÛïõàýÛ ¾Ûé¶Ûé›÷Áõ¶ÛÛ× ¾Û©Ûé 
10% ÅÛé”Ûé ÍÛ©Û©Û ÈÛèÜ±ù ¬ÛÉÛé …¶Ûé ÈÛÌÛÙ¶ÛÛ× …×©Ûé Ü¦øÜÈÛ¦ø¶¦ø ` 2.00 ™öé. ›Ûé ©Û¾Ûé ` 50 ¾ÛÛ× …Û Í¤øÛéïõ 
”ÛÁõàþùÛé, ©ÛÛé ©Û¾ÛÛÁõÛé …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ ÉÛä× ÐüÉÛé ? 

 (B) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4   

  (1) ¶ÛÛ¨ÛÛ×¶Ûä× ÍÛ¾ÛýÛ …ÛµÛÛÜÁõ©Û ¾ÛæÅýÛ ÍÛ¾Û›ÛÈÛÛé. 

  (2) ‘¼ÛÛé¶¦ø ¼Û›ÛÁ’õ Š¸ÛÁõ ¤æ×øïõà ¶ÛÛêµÛ ÅÛ”ÛÛé. 

  (3) ˆÜîÈÛ¤øà ¾ÛæÅýÛ Ü¶ÛµÛÛÙÁõ¨Û¶Ûä× ‘H’ ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé. 

 (C) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (1) …é¶ýÛä̂ ¤øà¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ …é¤øÅÛé ÉÛä× ? 
  (2) ¼Û›ÛÁõ ›Ûé”Û¾Û …é¤øÅÛé ÉÛä× ? 
  (3) ¼ÛÛé¶¦ø¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ÈÛÇ©ÛÁõ •Û¨ÛÈÛÛ ¾ÛÛ¤éø¶Ûä× ÍÛæªÛ ›÷̈ ÛÛÈÛÛé. 
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3. (A) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛé …¬ÛÙ …Û¸ÛÛé …¶Ûé ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶Ûà ›÷ÄõÜÁõýÛÛ©Û ¶Û‘õà ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé 
ÍÛ¾Û›ÛÈÛÛé.   7 

…¬ÛÈÛÛ 

  •Ûä›÷ÁõÛ©Û ï×õ¸Û¶Ûà ÜÅÛÜ¾Û¤éø¦ø ¾ÛÉÛà¶Û ”ÛÁõàþùÈÛÛ¶Ûä× ¶Û‘õà ïõÁéõ ™öé. ¾ÛÉÛà¶Û¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé 
¾Ûä›÷¼Û ™öé. 

   ¾Ûæ¦øà ÁõÛéïõÛ¨Û ` 3,00,000 

   ÈÛÛÜÌÛÙïõ –ÛÍÛÛÁõÛ¶ÛÛé þùÁõ 10% 

   ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% 

  –ÛÍÛÛÁõÛé …¶Ûé …¶ýÛ ”Û˜ÛÛÙ ¼ÛÛþù ïõýÛÛÙ ¸Û™öà¶Ûä× …×þùÛÜ›÷©Û ÈÛÇ©ÛÁõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

ÈÛÌÛÙ : 1 2 3 4 5 

…×þùÛÜ›÷©Û ÈÛÇ©ÛÁõ (`̀̀̀) 1,50,000 1,20,000 1,00,000 60,000 40,000 

  ` 1 ¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 10% ¶ÛÛ ÈÛ¤øÛÈÛ¶ÛÛ þùÁéõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

ÈÛÌÛÙ 1 2 3 4 5 

ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 0.909 0.826 0.751 0.683 0.621 

  •Û¨Û©ÛÁõà ïõÁõÛé : (1) ÁõÛéïõÛ¨Û ¸ÛÁõ©Û ¾Ûäþù©Û 

      (2) ˜ÛÛé””Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 

 (B) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  4 

  (1) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛé …ÛÉÛÛÈÛÛþù¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 

  (2) ¾Ûæ¦øà …™ö©Û ÍÛ¾Û›ÛÈÛÛé. 

  (3) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 

 (C) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé :  3  

  (1) ˜ÛÛé””Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà …é¤øÅÛé ÉÛä× ? 

  (2) ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ¶ÛÛ× þùÁõ¶Ûà •Û¨Û©ÛÁõà¶Ûä× ÍÛæªÛ ›÷¨ÛÛÈÛÛé. 

  (3) ïõÛ¾Û•ÛàÁõà ˜Û’õ ÍÛ¾Û›ÛÈÛÛé. 

 

4. •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé :  14 

 (A) (1) Z ï×õ¸Û¶Ûà…é 10%¶ÛÛ Ü¦ø¼Ûé¶˜ÛÁõ 10 ÈÛÌÛÙ¶Ûà ¾Ûäþù©Û ¾ÛÛ¤éø ¼ÛÐüÛÁõ ¸ÛÛ¦øÀÛ. Ü¦ø¼Ûé¶˜ÛÁõ¶Ûà             
¾ÛæÇ Ýïõ¾Û©Û ` 100 ™öé …¶Ûé ¼ÛÐüÛÁõ ¸ÛÛ¦éøÅÛà Ýïõ¾Û©Û ` 94 ™öé. ï×õ¸Û¶Ûà¶Ûé ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶ÛÛé 
”Û˜ÛÙ ` 4 ¬ÛýÛÛé. ›Ûé ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ÐüÛéýÛ, ©ÛÛé Ü¦ø¼Ûé¶˜ÛÁõ¶Ûà ¾Ûæ¦øà ¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé.  

  (2) ` 10 ¶ÛÛ ˆÜîÈÛ¤øà ÉÛéÁõ¶ÛÛé ÈÛ©ÛÙ¾ÛÛ¶Û ¼Û›ÛÁõ ½ÛÛÈÛ ` 50 ™öé. …ÛÈÛ©ÛÛ× ÈÛÌÛÙ¶Ûä× …¸ÛéÜ“Û©Û 
Ü¦øÜÈÛ¦ø¶¦ø ` 3 ™öé. Ü¦øÜÈÛ¦ø¶¦ø¶ÛÛ× þùÁõ¾ÛÛ× ÈÛÛÜÌÛÙïõ 8% ¶ÛÛ þùÁé ÈÛèÜ±ù ¬ÛÛýÛ ™öé. ï×õ¸Û¶Ûà¶Ûé 30% 
ïõÁõÈÛéÁõÛ þùÁõ ÅÛÛ•Ûä ¸Û¦éø ™öé.õ ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ¾Ûæ¦øà ¸Û¦ø©ÛÁõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
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 (B) ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ×¶ÛÛ× ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 

 (C) ¾ÛÛéÜ¦ø•ÅÛà…¶Ûà …¶Ûé Ü¾ÛÅÛÁéõ ÍÛæ̃ ÛÈÛéÅÛ Ü¦øÜÈÛ¦ø¶¦ø ¬ÛàýÛÁõà ÍÛ¾Û›ÛÈÛÛé. 

 (D) ï×õ¸Û¶Ûà A …¶Ûé ï×õ¸Û¶Ûà B ¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

ÜÈÛ•Û©Û ï×õ¸Û¶Ûà A 

(`̀̀̀)))) 
ï×õ¸Û¶Ûà B 

(`)`)`)`) 

ÈÛé̃ ÛÛ¨Û 1,20,000 1,20,000 

˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ 60,000 50,000 

ÜÍ¬ÛÁõ ïõÛýÛÙïõÛÁõà ¸Û¦ø©ÛÁõ 20,000 30,000 

ÜÍ¬ÛÁõ ¶ÛÛ¨ÛÛïõàýÛ ”Û˜ÛÛÙ 5,000 6,000 

  ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷¶Ûà ïõ“ÛÛ, ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷¶Ûà ïõ“ÛÛ …¶Ûé ÍÛ×ýÛäî©Û ÜÅÛÈÛÁéõ›÷¶Ûà ïõ“ÛÛ¶Ûà 
•Û¨Û©ÛÁõà ïõÁõÛé. 

 

5. ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõÛé :  14 

 (1) _______ ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û¶ÛÛ× ŠþÕù½ÛÈÛ¶ÛÛ× ©Û¼Û‘õÛ¾ÛÛ× ›÷¬¬ÛÛ©¾Ûïõ ÜÈÛÊÅÛéÌÛ¨Û¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ 
™öé. 

  (a) ÄõÜ§ø•Û©Û ©Û¼Û‘õÛé (b) …ÛµÛäÜ¶Ûïõ ©Û¼Û‘õÛé 

  (c) ÍÛ’õÛ×Ü©Û¶ÛÛé ©Û¼Û‘õÛé (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (2) ¼ÛÛé¶¦ø ÍÛÛ¬Ûé ˜ÛÛé‘õÍÛ ÈýÛÛ›÷¶ÛÛé þùÁõ ›Ûé¦øÛýÛéÅÛ ÐüÛéýÛ ™öé ›÷é¶Ûé _______ ïõÐéü ™öé. 

  (a) ïæõ¸Û¶Û þùÁõ (b) ¸ÛóàÜ¾ÛýÛ¾Û þùÁõ 

  (c) ¸ÛÜÁõ¸ÛîÈÛ©ÛÛ¶ÛÛé þùÁõ (d) ÈÛ¤øÛÈÛ¶ÛÛé þùÁõ 

 (3) ¶ÛéÉÛ¶ÛÅÛ Í¤øÛéïõ …é“Û˜Ûé¶›÷¶Ûà Í¬ÛÛ¸Û¶ÛÛ îýÛÛÁéõ ¬Ûˆ ? 

  (a) 1990 (b) 1993 

  (c) 1994 (d) 1995 

 (4) ________ …é ¶Û‘õà ïõÁéõÅÛ ¾Ûæ¦øà ”Û˜ÛÛÙ ïõÁõÈÛÛ¶Ûä× …¶Ûé ©Ûé ¾ÛÛ¤éø ¶ÛÛ¨ÛÛ× ¸ÛæÁõÛ ¸ÛÛ¦øÈÛÛ¶Ûä×             
ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûä× …ÛýÛÛé›÷¶Û ™öé. 

  (a) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà (b) ¾Ûæ¦øà ¼Û›÷é¤ø 

  (c) …ÛýÛÛé›÷¶Û (d) …×þùÛ›÷¸ÛªÛàýÛ …×ïäõÉÛ 

 (5) ˜ÛÛÅÛä Ü¾ÛÅÛïõ©ÛÛé …¶Ûé ˜ÛÛÅÛä þéùÈÛÛ ÈÛ˜˜Ûé¶ÛÛé …ÛþùÉÛÙ •Ûä̈ ÛÛé«ÛÁõ _______ ÐüÛéÈÛÛé ›Ûé̂ …é. 

  (a) 1 : 2 (b) 1 : 3 

  (c) 2 : 1 (d) 2 : 2 
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 (6) ¶ÛºõÛïõÛÁõïõ©ÛÛ …¶Ûé ›Ûé”Û¾Û ÈÛ˜˜Ûé _______ ÍÛ×¼Û×µÛ ™öé. 

  (a) ÍÛ×¼Û×µÛ¶ÛÛé …½ÛÛÈÛ (b) ŒÅÛ¤øÛé 

  (c) ÍÛàµÛÛé (d) …Û ¼ÛµÛÛ 

 (7) _______ …é ¾Ûæ¦øà ¸Û¦ø©ÛÁõ¶ÛÛ× ÜÈÛÊÅÛéÌÛ¨Û¶ÛÛ× ¾ÛÛ¤éø Š¸ÛýÛÛé•Û¾ÛÛ× ÅÛéÈÛÛýÛ ™öé. 

  (a) ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà (b) ¤æ×øïõÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà 

  (c) (a) …¶Ûé (b) ¼Û×¶Ûé (d) ºõî©Û Š™öà¶Ûà ¾Ûæ¦øà 

 (8) _______ ÜÅÛÈÛÁéõ›÷¾ÛÛ× ¶ÛÜÐü ¶ÛºõÛé-¶ÛÜÐü ¶ÛäïõÍÛÛ¶Û¶Ûà ÜÍ¬ÛÜ©Û ÐüÛéýÛ ™öé. 

  (a) ïõÛýÛÙïõÛÁõà ÷ (b) ¶ÛÛ¨ÛÛïõàýÛ  

  (c) ÍÛ¾Û©Ûæ¤ø ïõÛýÛÙïõÛÁõà ÷ (d) ïäõÅÛ ÷ 

 (9) ¶ÛÛ¨ÛÛïõàýÛ ›Û¾Ûà¶Û•ÛàÁõà …é¤øÅÛé _______  

  (a) ˆÜîÈÛ¤øà …¶Ûé ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ (b) Ü¦ø¼Ûé¶˜ÛÁõ 

  (c) (a) …¶Ûé (b) ¼Û×¶Ûé (d) …Û¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 (10) ï×õ¸Û¶ÛàµÛÛÁõÛ ¾Ûä›÷¼Û Ü¦øÜÈÛ¦ø¶¦ø ›ÛÐéüÁõ ¬ÛýÛÛ ¸Û™öà ______ÜþùÈÛÍÛ ÍÛäµÛà¾ÛÛ× ˜ÛæïõÈÛà þéùÈÛä× ›Ûé̂ …é. 

  (a) 21 (b) 42 

  (c) 30 (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (11) ˜ÛÛÅÛä Ü¾ÛÅÛïõ©ÛÛé¶ÛÛ× ÅÛ–Ûä©Û¾Û ¸Ûó¾ÛÛ¨Û¶Ûé ________ ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà ïõÐéü ™öé. 

  (a) ïõÛýÛ¾Ûà (b) Ü¶ÛýÛÜ¾Û©Û 

  (c) ”ÛÛÍÛ (d) ¾ÛÛéÍÛ¾Ûà 

 (12) ˜ÛÛé””Ûà …ÛÈÛïõ¶ÛÛé …Ü½Û•Û¾Û ______ ³ùÛÁõÛ Áõ›æ÷ ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛé. 

  (a) ¾ÛÛéÜ¦ø•ÅÛà…¶Ûà (b) ¦éøÜÈÛ¦ø ¦äøÁõÛ¶¦éø 

  (c) …ÅÛà ÍÈÛÛ¤Ùø¡ö (d) Ðéü¡öÁõÛ ÍÛÛéÅÛÛé¾Û¶Û 

 (13) _______ ¶ÛàÜ©Û ¾Ûä›÷¼Û ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶Ûä× ¸Ûó¾ÛÛ¨Û ©Ûé¶Ûà ›÷ÄõÜÁõýÛÛ©Û ïõÁõ©ÛÛ× …Ûé™ä×ö ÁõÛ”ÛÈÛÛ¾ÛÛ× 
…ÛÈÛé ™öé. 

  (a) …Û’õ¾Ûïõ (b) ÄõÜ§ø˜ÛäÍ©Û 

  (c) ¾ÛµýÛ¾ÛÛ•Ûâ (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (14) CAPM ¾ÛÛé¦éøÅÛ ïõÛé¶ÛÛ ³ùÛÁõÛ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈýÛä× ? 

  (a) ÜÈÛÜÅÛýÛ¾Û ÉÛÛ¸ÛÙ (b) ÜÈÛÜÅÛýÛ¾Û ›÷é¾ÍÛ 

  (c) …é¾Û.›÷é. •ÛÛé¦Ùø¶Û (d) ÈÛÛéÅ¤øÁõ 

__________ 
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1. (A) What is a financial management ? Describe the managerial finance functions. 7  

     OR 

   Explain the role of finance manager. 

 (B) Attempt any two : 4 

   (1) Explain the objective of maximization of wealth. 

   (2) Explain the modern concept of finance function. 

   (3) Explain the stages of evolution of financial management. 

 (C) Answer the following : 3 

   (1) How return on investment is calculated ? 

   (2) What is administrative finance function ? 

   (3) List out the limitations of traditional approach of finance function. 

 

2. (A) Explain the causes of financial risk and business risk. 7 

      OR 

  Equity shares of Y ltd. having market value of ` 25. Finance manager is expecting 

growth rate of 10% per annum and dividend of ` 2=00 at the end of the year. 

What is your expected rate of return if you buy the stock for ` 50 ?  

 (B) Attempt any two : 4   

  (1) Explain the concept of time based value of money. 

  (2) Write short note : Bond Market 

  (3) Explain ‘H’ model for equity share valuation. 

 (C) Answer the following : 3 

  (1) What is present value of an annuity ? 

  (2) What is market risk ? 

  (3) State the formula to determine present value of bond. 
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3. (A) Give the meaning of working capital and discuss the factors affecting working 

capital requirement. 7 

OR 

  The Gujarat company Ltd. decided to purchase a machine. The relevant data 

about this machine are as follow : 

   Capital investment ` 3,00,000 

   Depreciation rate per year 10% 

   Tax rate 50% 

  Expected return after charging depreciation on the machine and other expenses is 

as follow : 

Year: 1 2 3 4 5 

Expected return (`̀̀̀) 1,50,000 1,20,000 1,00,000 60,000 40,000 

  Present value of ` 1 at 10% discount rate are as follows : 

Year 1 2 3 4 5 

Present value 0.909 0.826 0.751 0.683 0.621 

  Determine : (1) Pay-back period 

    (2) Net present value 

 (B) Attempt any two :  4 

  (1) Explain the principle of optimization of working capital. 

  (2) Explain capital rationing. 

  (3) Explain the types of working capital. 

 (C) Answer the following :  3  

  (1) What is net working capital ? 

  (2) State the formula for calculating average rate of return. 

  (3) Explain ‘operating cycle’. 

 

4. Attempt any two :  14 

 (A) (1) Z company issues 10% debentures of 10 years maturity. The face value of 

the debentures is `  100 and its issue price is ` 94. The company pays ` 4 

floatation costs. If the tax rate is 50%, compute the cost of debentures.   

  (2) The current market price of ` 10 equity shares is ` 50. The expected 

dividend for the next year is ` 3. The dividend rate grows at 8% per annum. 

30% tax rate is applicable to the company. Calculate the cost of equity 

capital.  
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 (B) Explain the types of capital structure. 

 (C) Describe the dividend theory suggested by Modigliani and Miller. 

 (D) The particulars of the firm A and B are given in the following table : 

Particulars Firm A 

(`̀̀̀)))) 

Firm B 

(`̀̀̀)))) 

Sales 1,20,000 1,20,000 

Variable cost 60,000 50,000 

Operating fixed cost 20,000 30,000 

Fixed financing cost 5,000 6,000 

  Calculate degree of operating leverage, degree of financial leverage and degree of 

combined leverage. 

   

5. Select the correct answer : 14 

 (1) In _______ stage of evolution of financial management is includes quantitative 

analysis. 

  (a) Traditional phase (b) Modern phase 

  (c) Transitional phase (d) None of these  

 (2) A bond carries a specific interest rate called _______. 

  (a) coupon rate (b) premium rate 

  (c) maturity rate (d) discount rate 

 (3) When the national stock exchange was established ? 

  (a) 1990 (b) 1993 

  (c) 1994 (d) 1995 

 (4) _______ is long term planning for making and financing proposed capital 

outlay. 

  (a) Working capital (b) Capital budget 

  (c) Planning  (d) Budgetary control 

 (5) Ratio of current assets to current liabilities should be _______. 

  (a) 1 : 2 (b) 1 : 3 

  (c) 2 : 1 (d) 2 : 2 



NP-107 8  

 (6) What is the relation between profitability and risk ? 

  (a) Absence of relation (b) Inverse 

  (c) Positive (d) All of these 

 (7) _______ is considered in analysis of cost of capital. 

  (a) Long term capital (b) Short term capital 

  (c) (a) and (b) both (d) Only borrowed capital 

 (8) In _______ leverage condition of no profit – no loss is created. 

  (a) operating (b) financial 

  (c) break even operating (d) total  

 (9) Financial securities contain _______. 

  (a) equity and preference share (b) debenture 

  (c) (a) and (b) both (d) None of these  

 (10) According to Company Act, the dividend should be paid within _______ days 

after declaring it.   

  (a) 21 (b) 42 

  (c) 30 (d) None of these 

 (11) Minimum proportion of the current assets is known as _______ working 

capital. 

  (a) permanent (b) regular 

  (c) special (d) seasonal 

 (12) Net income approach is presented by _______. 

  (a) Modigliani (b) David Durand 

  (c) Elli Swartz (d) Ezra Soloman 

 (13) According to _______ policy, percentage of working capital is kept less than its 

requirements. 

  (a) Aggressive (b) Traditional 

  (c) Inter-mediatory (d) None of these 

 (14) Who gave the CAPM model ? 

  (a) William Sharpe (b) William James 

  (c) M.J. Gorden (d) Walter 

____________ 

  


